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Term End Examination, 2019-20
Group - B
Business Mathematics

Time:- Three Hours ] [Maximum Marks:75
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Nate:  Answer all questions. All Questions carry equal marks,

¥R / Unit - [

1. (a) IO THIBRT d1 87 PIIId THIERY & B @ fafar Rfdt ay
TRy |
What are Simultaneous equalions? Explain the different methods of solving simultaneous equation.
(b) werene= fafy g &@ Pifom—
Solve by the method of substitution -
4x +y =24
3x -5y =18

S¥ET /1 OR

(a) YW1 UenH AR 1 A et aagy |
Give various characlerisations of linear programming problem,
(b) 31erFaR BRT (maximize)
Z=x+ Exl

W (Such that) x, — x, 2 0

1
—SX T X < 1 &= (and) x; 2 0,x;, =2 0
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2. AXTRT AB SIS SIfY I
Caleulate A® and AB if -
2 3 4 1 3 2
A=[1 2 3,8:[—1 0 1
1-1 1 ¢ 0 3
37°T4T / OR

RO B alRv ST @R 39w T P @) aHemsy |

Give the definition of determinant and explain its main properties.
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3. e fIar o < g B fF O e 12 R 15 ad B R 51783%. 59 THR qieAT =@wEeT @
% 5% aiftfe wrgfa w9 @& o) W ffraRa 59 viei | S S
W A 18 AY BT IW 9 B, WA MY B, 9/ o7 I aiem wriRe?

A father desires to distribute 51783/- amongst his two sens wha are respectively 12 and 15 years olds
in such a way that the sums invested @ 5% P.a. compound  interest will give the same amount to both of
them when they allain the age of 18. How should he divide the sum.
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5.

(2) SHYT U BUTS E9 3@ T OX WSl § {5 a8 34560%. vt ek gwer . € Wt @
TAE Ugel a9 T SN T B o F T | T 0 uwefe TS B VST 8% AT &
S & @ Wi 6 FeE qed e §nne

Umesh purchase a printing machine on the cendition that he will pay 34360/~  now and equal sums will
pay at the cnd of first year and al the end of second  year. if the compound interest is calculated 8% yearly.
Find the cash price of the printing machine. _
(b) B <Y NP T FEHE e TG o, e S o 9@ wfy o 1w, @ o fea
SR ® TR UHgIE T Y W 7% R aY § )

Find the present value of an annuity due of 1/~ per annum payable annually for 2 years. The rate of
compound intorest 7% per annum.
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() 140%. BT ATRITB ¥ SH UGR Giel f6 A F1B & g9 A 20%. e et |

Divide 140/- between A and B so that A get twice the money that B gets and  20/- more.

(b} A, BT C & aa= »He: Raargoe & ) afe B a7 ¢ P 969 HAI: 250%. 921 1250%. 8
T BT I o |

The salary of A, B and C are in continued proportion it the salary of B and C are respectively 230/~ and
1250/-. Find the salary ol A.
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(a) "Ig= 7 13 2ol 50%, P @ §, 16 A 60, B W W IR 12 9 65%. B W § G|
I #7 sitwa w9 5o T Aifarg

Mohan purchased 13 bags at the rate of 30/- per bag. 15 bags at the rale of 60/~ per bag and 12 bags at
the rate of 65/- per hag. Find the average purchase price per bag.
{b) AT T FY- {Iind the Average)

i 0-10 10-20  20-30  30-40 40-30 50-60  60-70

Class-interval

g 06 13 24 41 26 12 7
Frequency
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() T YOIve 7 TWHeT 8000%. H fdam| [wve & dar ¥ 1% awﬁ@?nﬁl%chﬁhm

o | gHer wdieE gqms) |

A scooter was sold for 8000/- through an agent. The agent charged his

commission al the rate of 1% from purchaser and 1 %% trom the seller. find hig commission.

~(b) Foodit axg WY 120%. A I WY 25% W gler B Al I a%g BT 126%. H &= Sy

fFa= uftrerd oy Br?

There is a profit of 253% when an article is sold at 120/-, What will be the gain

percent if the article is sold [ur 128/-.

SIYET / OR
fA=fare aiNaes e &1 5@ ifomg—
Solve the following transportation problem -

AT (market) Ml MZ M3 M4 U‘ﬁ
¥ A (were house] supply
wi 2 2 271 3
W2 10 g 5 4 7
w3 76 6 8 5
HAT (Demand) 4 3 4 4 15




